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0.1 Relative Price Adjustment

While microeconomists typically use the absolute price adjustment specifi-
cation considered by Scarf, macroeconomists often assume that price adjust-
ments are proportional to the price level. In this economy, this assumption
means prices adjust according to the following simultaneous differential equa-
tions:

- = AwEm(p:rvpy) (1)
Y
p
= = N EY(paspy) (2)
Dy

where A\; > 0 and Ay > 0.
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0.1.1 Instability

As with the absolute specification, the system of Equations (1) and (2) is
globally unstable if « +3 = 1,and v = 0.

Following the same method to integrate the system as in the absolute
adjustment specification, the system can be written
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Both Equation (3) and Equation (4) can be manipulated to find an ex-
pression which is equal to (1 — 2a)(pywy, — w,)(Prwy — ws)/ (Paws + Pywy).
Subtracting these two expressions gives
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This equation can be directly integrated with respect to ¢ to give a func-

tion which describes the paths along which prices adjust, the solution to the
system of Equations (3) and (4). In particular,
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where C'is the constant value of the level surface on which (p,,p,) lies.
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